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FEHAZH () (2) (1) A 2% (1)
1 dtiEE 497 495 99.6 229
2 BHHE 116 116 100.0 17
3 &=FE 110 110 100.0 29
4 TRE 227 226 99.6 41
5 MHER 82 82 100.0 130
6 WKE 109 109 100.0 23
7 RBE 146 146 100.0 37
8 ZRWE 230 230 100.0 41
9 HKRE 166 163 98.2 155
10 HEER 190 190 100.0 60
11 BER 448 448 100.0 137
12 FER 380 379 99.7 42
13 FREH 4,651 4,625 99.4 1,366
14 AE)I|E 829 829 100.0 191
15 #HAE 264 264 100.0 34
16 EWE 131 127 96.9 28
17 AR 149 148 99.3 19
18 fRHE 76 76 100.0 42
19 WFE 62 62 100.0 12
20 RHE 219 219 100.0 41
21 IFRIE 195 193 99.0 41
22  BEREE 403 403 100.0 209
23 EHE 1,091 1,088 99.7 122
24 Z=EBE 152 151 99.3 294
25 HER 112 110 98.2 15
26 HARKTF 309 304 98.4 126
27  KWRAF 1,462 1,457 99.7 146
28 EER 537 534 99.4 65
29 Z=RE 77 77 100.0 17
30 FF/LIE 60 59 98.3 28
31 ERE 44 44 100.0 11
32 BiRE 49 49 100.0 105
33 MWE 222 220 99.1 100
34 |LBR 383 381 99.5 63
35 Og 127 127 100.0 28
36 HER 59 59 100.0 8
37 FNE 108 108 100.0 120
38 EIRIE 147 147 100.0 10
39 SEHRE 58 58 100.0 8
40 fEMHE 595 594 99.8 144
M1 EER 68 68 100.0 15
42 ERIFE 121 121 100.0 15
43 HERIR 143 143 100.0 35
4 RKHE 112 112 100.0 93
45 EiFE 92 92 100.0 18
46 EREE 169 169 100.0 42
47  HHEIR 122 122 100.0 16
HEt 16,099 16,034 99.6 4,568




